
https://www.pass4itsure.com/e20-026.html
2024 Latest pass4itsure E20-026 PDF and VCE dumps Download

 

 

 

E20-026Q&As

Enterprise Storage Networking Specialist Exam

Pass EMC E20-026 Exam with 100% Guarantee

Free Download Real Questions & Answers PDF and VCE file from:

https://www.pass4itsure.com/e20-026.html

100% Passing Guarantee
100% Money Back Assurance

Following Questions and Answers are all new published by EMC
Official Exam Center

 

 

E20-026 VCE Dumps | E20-026 Exam Questions | E20-026 Braindumps                                1 / 4

https://www.pass4itsure.com/e20-026.html
https://www.pass4itsure.com/e20-026.html
https://www.pass4itsure.com/e20-026.html


https://www.pass4itsure.com/e20-026.html
2024 Latest pass4itsure E20-026 PDF and VCE dumps Download

QUESTION 1

When would you prefer a Naive Bayes model to a logistic regression model for classification? 

A. When you are using several categorical input variables with over 1000 possible values each. 

B. When you need to estimate the probability of an outcome,not just which class it is in. 

C. When all the input variables are numerical. 

D. When some of the input variables might be correlated. 

Correct Answer: A 

 

QUESTION 2

Refer to the Exhibit. 

You are working on creating an OLAP query that outputs several rows of with summary rows of subtotals 

and grand totals in addition to regular rows that may contain NULL as shown in the exhibit. Which function 

can you use in your query to distinguish the row from a regular row to a subtotal row? 
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A. GROUPING 

B. RANK 

C. GROUP_ID 

D. ROLLUP 

Correct Answer: A 

 

QUESTION 3
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Which data type value is used for the observed response variable in a logistic regression model? 

A. Any positive real number 

B. Any integer 

C. A binary value 

D. Any real number 

Correct Answer: C 

 

QUESTION 4

A data scientist plans to classify the sentiment polarity of 10, 000 product reviews collected from the Internet. What is
the most appropriate model to use? Suppose labeled training data is available. 

A. Na.ve Bayesian classifier 

B. Linear regression 

C. Logistic regression 

D. K-means clustering 

Correct Answer: A 

 

QUESTION 5

A disk drive manufacturer has a defect rate of less than 1.5% with 98% confidence. A quality assurance team samples
1000 disk drives and finds 14 defective units. Which action should the team recommend? 

A. The manufacturing process is functioning properly and no further action is required 

B. A larger sample size should be taken to determine if the plant is operating correctly 

C. A smaller sample size should be taken to determine if the plant is operating correctly 

D. There is a flaw in the quality assurance process and the sample should be repeated 

Correct Answer: A 
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